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B.A. (CBCS) DEGREE EXAMINATION, APRIL 2023
Fifth Semester |
| Economics — Major Elective
LABOUR ECONOMICS
(For those who. joined in July 2020 orlly)
Time : Three hours | " Maximum : 75 marks
PART A — (10 x 1'= 10 marks)

Answer ALL questlons

Choose the correct answer

)

1. g;q;ﬂa;[;iumrwrrm‘ o eplil|  GTETLE
S{LDFLDMGLD. '
() aueniEdliue LTS BrHSET
(<) mmr‘rg’r;g; BI(H&ET |
(@) euerhs WHHILD méw’réré]mem_u_lrrg, pr(safle

(m) erslajb Gome



‘Excess labour force is a feature of ‘
(a) underdeveloped countries |
- (b) developed countries

(¢ in both developed and underdeveloped
- countries |

(d) none

Qgmfemart GrFgemaer er(QeUSDHS Bl ‘@éaaﬂmmrrem
& Ty 6Tl & i

(=) CGeuener GrIL

(=p) ool NSlSBISET

@ uefden sreb

() CuGe 2 GTaT SMETSSILD

The most important factors that give rise to labour
problem are o

(a) working hour  (b) _Wa—ge rates

(¢) tenureof Wdrk (d) all the above

19\ 6treu (LD ﬂjgu L@gHsmar CHyLINs Gg,n@cbg)jmm
o payser gapuile Gafss (Plalgl?

() @gﬂ@ﬁ)grﬁi& S| BISSMTLD

() Gauane Fipispid HDID LG5S

(@) G®PHSULE - oerdluib, ;ﬂu_lrru_lmr'rsm' arduib
HMILD UTPEEMS Der&|wih

(/) aml_( Guibd
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Which of the following areas cannot be diye |
included in the field of industrial relations? ctly

(a) Trade union recognition
(b) Strike and lock-out |

(¢) Minimum wages, fair wages and livin
wages g

(d)  collective bargaining

pardlwig L 1D @uippULILL-g)

(=) 1926 (<)) 1936

(@) 1948 (FF) 1976

The payment of the Wages Act was enacted in
(a) 1926 (b) 1936

© 1948 @ 1976

Qgmfledr armm) Gamflevreriaeten FmisLb.

(&) Qsmrsflurar  (2),) SH&TOlS
(@) @eweauGurgy  (m)  aglajfloma

A trade union is a - association of workers.
(a) continuous (b) . temporary
(¢) sporadic (d) none |

Asmfler gaymy |
(1) Blggid (<B)) 2 a@renowlHmy

.(@) HMHLICHET . (IF)  erglalevemnev
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An industrial dispute must be
(a) real (b) unreal

(¢) 1imaginary (d) none

| Lieuwtl & (9 Grsiﬁugj

Q@ uEd i@y
(<) WPSSTUIY el
(@) &y Quipdyo |
() earglu BlirenTw @) wihd pmiser
Works-committee is a
(a) bi-partite body
- (b) tripartite body
(c) adjudication machinery
(d) wage fixing machinery
Qg,rr@]eurrmr‘r“ sOeNE HLd  ehs e
Qam_msluLl L g 7 ' o :
(@) 1948 (cy) 1958
(&) 1968 (m) 1978

Which year the workers education programme was
launched?

(2) 1948 (b) 1958
(c) 1968 @ 1978
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Do aape LI gae, bt g aman - .___,,_._,_,,@)dﬂ(@]béﬁ’
SUPACHIEATYAE

(«21)  Garaman gy, Bladore 1y i
(<) @Nan
(@) Gy

() ao@enm’ |

Al . . ]
Social Security protects a man from -

(a) unemployment () want

(€)  discase (d)  squatter

10. 11O Bmieuion <9}, 6607 ()

(21) 1919 (<9p) 1920

(@) 1924 (FF) 1932
The 11O was established in the year
(a) 1919 b) 1920
© 1924 d) 1939

]|

PART B — (¢

x 5 = 25 marks)

Answer ALL questions choosing ¢

ither (a) or (b).
Each answer should not excee

d 250 words.
11, (&) 2 NLPUIINEST LIGHTL (&6 cramman o |
What are the characteristics of labour?

Or
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12,

13,

14.

(<2p)

Qsmflereri  Hpeen LTHEGWD @56

WITEn ey 7

What are the factors affecting labour
efficiency?

O_GHTEN LD LD)'_D@JLD @LJU.JUGTT@-J Qﬂlﬁwﬁﬂ&fv@?m
Caumusginisar.
Differentiate real and nominal wages.

Or ’
Qemflemert  omdluggler sarfluld  SHDDTE
smpusants GHoib

Mention the non-wage compone
remuneration.

nt of labour

Clgmpler saTmTyIs@ndsTar GIEEIEMETS el

Bring out the causes for industrial disputes.
Or

gl () Cuysslen Crrésmsmans GDHUGLab.

Mention the objectives of collective

bargaining. |

 LafsE LpDE GHUU a@seD

Write a note on works committee.
Or

- @pdureiie Aireurssdled  Gamplemariser

L Gahusen CHTEEHEMETS GOUSLa.
State the objectives of workers participation
in m’anagement in India.
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State the characteristic features of Soes
1nsurance. clal

Or |
() Fepsl unrgisrinfe EHEDSS samis.

Bring out the concept of social security,
PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 6§00 words.

16. (=) Ggmievmerir shng Cardrensgsamer aﬁlmé;a;mm.
Illustrate thé labour market policies.
| - Or |
(=) @bdwg Ggmperariseier  Qewddpamarn
L@GUUmie] ClFuuR&ErT. ‘

- Analyze the efficiency of Indian labour.

17. (=) caflusdenr  @ndhow o2 pHusds S
Camiumlenl &Slemd @ nisar. |
Explain the marginal productivity theory of

wage.
Or

sarglwgdear Cupd Gued Casmiument U L

shlaundlegelb.

iscuss the bargaining theory of wage.
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18.

19.

(<)

(<)

(<34)

R Csmfipsnssdar  Laflsamenr & (IHh& &IOS
cuflé&&sayLb.
Describe in brief the functions of a trade

union.

ailfleuns efeundésaib.

Discuss elaborately the various process of
collective bargaining,

Qpdureled sal @ Cuerarmenio &6 61 ¢S 6
LIt Hmih Qewdun®semern el emd; & Mg e

Explain the role and functions of joint

management council in India.
Or

G BHwreda Qsmfleomeri &b el ull e
Crrésnisemer eSlfleumsL] BIGNIET Y
Ql&uIuymiger. |
Analyse in detail the objectives of worker's
education in India.

ggcrsbgplaﬂsh Oewdun®seamer < T ITU I G5 T

Examine the functions of 11,0,

Or
Qidwreler o erer LeGouy seps Lngamiy
BLeU&E&&MET &i(h&&L0Ts aSeufléaayip.

Describe in brief the various social security
measures in India.

Page 8 Code No. : 30410 B



